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&5 X 4 ﬁ;é): Tﬂﬁ*ﬁb\(ﬁf)ﬂﬁ"ﬁﬁ 73(&3(5‘5 X 4 Tﬁﬁﬁ%ﬂ;(ﬁ;k? ﬁf 73(&%%‘5 E 4 ;.é,‘mf J:ﬂﬁ”ﬁt\(i)d)tt% 7‘1(@3(;?)3 B 4 J:ﬂﬁ”ﬁt\(i)d)tt% '(.%.‘m? 71(@3(53*
; 100kN/M%E#B 2% - -~ - -[3mEEZS -~ - - -| 100kN/mMi%#8 2% - -~ - | 3mERBAS -~ - -
zh st 1.00 | 0.00 ~ 358 52.92 | 04 | 000 ~ 000 | 1.83 8.05 zhst 1.00 | .00 ~ 5.00 52.92 | =nS | 500 ~ 5.00 | 1.83 8.05
P 100kN/M%E#B 2% - -~ - -[3mEEBZS -~ - - -| 100kN/mMi%#8 2% - -~ - | 3mERBAS -~
zh st 1.00 | 000 ~ 354 5227 | #nRS | 000 ~ 000 | 1.88 829 zhst 1.00 | .00 ~ 5.00 5227 | TnS | 500 ~ 5.00 | 1.88 8.29
3 100kN/M%E#B 2% - -~ - -[3mEEZS -~ - - -| 100kN/mMi%#8 2% - -~ - | 3mERBAS -~
zh st 1.00 | 0.00 ~ 6.08 90.15 | #n4 | 000 ~ 608 2.37 10.44 zhst 1.00 | 500 ~ 1080 90.15 | Fhus | 5,00 ~ 1080 2.37 10.44
4 100kN/mZE#BZ5 | 1.00 000 ~ 005| 100.89 |3m&EEZ5 -~ - - -| 100kN/mMi%EEZ2 2| 1.00 | 1457 ~ 1480 100.89 |3mEEZ 3 -~
zhs 1.00 | 005 ~ 674 100.00 | Ths | 000 ~ 6.74| 256 11.28 zhst 1.00 | 500 ~ 1457 100.00 | Fhs | 500 ~ 1480 | 2.56 11.28
5 100kN/ M%E#B 2% - -~ - -[3mEEZS -~ - - -| 100kN/mMi%E#8 2% - -~ - | 3mERBAS -~
zh st 1.00 1000 ~ 617 91.53 | N4 | 000 ~ 617|204 8.97 zhst 1.00 | 500 ~ 1240 91.53 | FhUs | 5,00 ~ 1240| 2.04 8.97
5 100kN/ M%E#B 2% - -~ - -[3mEEZS -~ - - -| 100kN/mMi%# 2% - -~ - | 3mERBAS -~
zh st 1.00 1 000 ~ 643 95.84 | NS | 000 ~ 643 | 203 8.94 zhst 1.00 | 500 ~ 1380 95.84 | Fhds | 5,00 ~ 1380 2.03 8.94
- 100kN/ M%E#B 2% - -~ - -[3mEEZS -~ - - -| 100kN/mMi%E# 2% - -~ - | 3mERBAS -~
zh st 1.00 1000 ~ 611 90.59 | #n4 | 000 ~ 611210 9.23 zhst 1.00 | 500 ~ 1570 90.59 | ThS | 500 ~ 1570 210 923
g 100kN/mZE#BZ5| 1.00 000 ~ 038| 10627 |3m&E8Z5 -~ - - -| 100kN/mMi%E8Z22 | 1.00 | 1285 ~ 1450 106.27 |3mEEZ 3 -~
zhs 1.00 038 ~ 706 100.00| Fhs o000 ~ 706|218 9.61 zhst 1.00 | 500 ~ 1285 100.00 | Fhs | 500 ~ 1450 2.18 9.61
9 100kN/ M%E#B 2% - -~ - -[3mEEZS -~ - - -| 100kN/mMi%E# 2% - -~ - | 3mERBAS -~
zh st 1.00 1 000 ~ 653 97.39 | #n4 | 000 ~ 653|211 9.27 zhst 1.00 | 500 ~ 1290 97.39 | #FhUS | 5,00 ~ 1290\ 211 9.27
10 100kN/ M%E#B 2% - -~ - -[3mEEZS -~ - - -| 100kN/mMi%E# 2% - -~ - | 3mERBAS -~
zh st 1.00 | 0.00 ~ 290 43.52 | NS | 000 ~ 290 | 217 9.53 zhst 1.00 | .00 ~ 5.00 43.52 | #hds | 500 ~ 500 | 217 9.63
100kN/ M%E#B 2% ~ 3ImEBRD ~ 100kN/ Mm% 25 ~ ImEBAS ~
Zhust ~ Zhust ~ Zhust ~ Zhust ~
100kN/ M%E#B 2% ~ 3ImEBRD ~ 100kN/ Mm% 25 ~ ImEBAD ~
Zhust ~ Zhust ~ Zhust ~ Zhust ~
100kN/M%E#B 2% ~ 3ImEBRD ~ 100kN/ Mm% 25 ~ ImEBAS ~
Zhust ~ Zhust ~ Zhust ~ Zhust ~
100kN/M%E#B 2% ~ 3ImEBRD ~ 100kN/ Mm% 25 ~ ImEBAD ~
Zhust ~ Zhust ~ Zhust ~ Zhust ~
100kN/ M%E#B A% ~ 3ImEBRD ~ 100kN/ Mm% 25 ~ ImEBAS ~
Zh st ~ Zh st ~ Zh st ~ Zh st ~
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